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1) — repeat 15/, repeat S while B,

E: BALE 1) AL

Ferk i SO
P =S S.next = newlabel()
P.code = S.code || label(S.next)
S — assign S.code = assign.code
S = if(B) S B.true = newlabel()

B.false = S).next = S.next
S.code = B.code || label(B.true) || Si.code

S — if ( B) S; else Sy | B.true = newlabel()
B false = newlabel()
Si.next = So.next = S.next
S.code = B.code
|| label( B.true) || Si.code
|| gen(’'goto’ S.next)
|| label(B.false) || Sz.code

S — while( B) S, begin = newlabel()

B.true = newlabel()

B.false = S.next

Sy.next = begin

S.code = label(begin) || B.code
|| label( B.true) || Sy.code
|| gen('goto’ begin)

S = 515 Si.next = newlabel()
Sg.ﬁe.’ﬂt = S.next
S.code = Sy.code || label(S.next) || Sa.code
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P = 5

S — assign

S = if (B) S

S — if (B ) S else Sy

S — while ( B) S,

S—}Sl.SQ

S.next = newlabel()
P.code = S.code || label(S.next)

S.code = assign.code

B.true = newlabell()
B.false = S).next = S.next
S.code = B.code || label( B.true) || Si.code
B.true = newlabel()
B.false = newlabel()
Si.next = Sy.next = S.next
S.code = B.code
|| label( B.true) || S1.code
|| gen('goto’ S.next)
|| label( B.false) || Sz.code
begin = newlabel()

B.true = newlabel()

B.false = S.next

Sy.next = begin

S.code = label(begin) || B.code
|| label( B.true) || Si.code
|| gen('goto’ begin)

Sy.next = newlabel()
SQ.TE-B.‘Et = S.next
S.code
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S1.code || label(S).next) || So.code
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#3]16.7.1: A 643 dpyBMIFFEMIFTAREL, HHESFEELH truelis T
falselist, {Ra] VIR — &k A LAY TE £ 690l 2 100,

1) a==b && (c==d || e==f)

E: RAHE 1) AL

1)

B_)BI ||J"”-B‘3

B — B, && M B'_l

B— !B
B—?(Bi:]

B — El rel Iy

B — true

B — false

M=«

{ backpatch( By .falselist, M .instr):
B truelist = merge( B, .truelist, Bs.truelist);
B.falselist = B,.falselist; }

{ backpatch( By .truelist, M.instr);

B truelist = By truelist;

B . falselist = merge( B, .falselist, Bs.falselist); }
{ B.truelist = B, .falselist;

B.falselist = By .truelist; }

{ B.truelist = B, .truelist
B.falselist = By falselist; }

{ B.truelist = makelist( nextinstr);
B falselist = maokelist( nextinstr + 1);
gen('if’ E).addr rel.op Es.addr 'goto '):
gen('goto ); }

{ B.truelist = makelist(nextinstr);
gen('goto '); }

{ B.falselist = makelist(nextinstr);
gen('goto '); }

{ M.instr = nextinstr; }
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